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Interface 11 Interface 12
class A class B
class C
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I1.func(true);
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A.func(true);
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B b = new B();
C c = new C();
System.out.println(b.defFun(1, 2, 3));
System.out.println(c.defFun(1, 2, 3));

DOTYXN MR Py debug 2 TP DR YA PN L0232 MTIN2 MIRINAW W

72°von defFunc 2 aRMp ,A00KRT 77W2 01PN vI1Pw o¥va 79°von defFunc 2 ax»p 9
nwH Wi PR 12 7102 .£2 1 f1 nyxpnng nx a2 van XM ,12 2 nwninna defFunc nX
defFunc xp11977 %3 2C % RpN7 112777 7n? .C 702 ¥012 1320 WInvnn L3287 NP

.C 019707 DRI RIW ¢ 2V 72V

wiank N2 A LPYa 0w a1 ok PR .(foo 77INNT) prant aTwp ArRY 7Tnn nwnnen A N2
DO0R 2ON1PW P0NR AYRIA DI PR 2R ,PWINA NPLPIUDART MTINNT 92 DX

MY XYY RO DOPWIN 780 Wano 09130 7010 ,ap0nn 12 111, popwan taw nwann C aponan
nR 0°07a 12 a3 11 a3 .Pva 0w PR 2°0P00aR MW IR 1730 DOpwInT *Iwa ar 7P
DOPWIAT SIW DR "POON” N ,NNAR QYD W X100 NX nwnnan C .aar maonn oy £1 50epnon
QDR .0 SNV 797 2T 1D 2737 NPWRIDOT IR0 N0 DOPWINT AW aR 3P 00 a0
L0PA TWHNA 7P7 922 AT DY 271,77 71 MR TIP2 AT IR MDI? 00110

X

A

19920 — 2 P9n
7R w C B2 an 11, amewn mon we C 91 A Hw X amk A, B, C v 2995007 1mRwd

2712 777 WP KLY 0% 7300 12 5w 20 Ry By, I1 5w 20 0¥y X A LT pa XY .12 0907, amwn
;009w main 2 X277 TPR DR 192017



A al = new A();
I1 a2 = new A();
al.f1(1, 2);
al.foo();
a2.f1(1, 2);
a2.foo()
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I1 a2;

if (Boolean.getBoolean(args[0])) {
a2 = new A();

}

else {
a2 = new C();
}

a2.f1(1, 2);
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I1[] arr = new I1[2];

arr[0] = new A();

arr[1] = new C();

for (I1 il : arr) {
System.out.println(il.f3("abc"));

}
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